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Practice Test b:

VERBAL SKILLS

-

3

thch ‘word does N ot belong

w1th the others"

(B) elated:
(C) gleefnl
(D) joyous 7,

8.

(B) false: 9.
(©) unicertain.

443

:592

{A) quah B
-(B) honesty

Create most nearly means
(A) destroy:
(B) build.

(C) discover:
(D) invent.

Youth is to young as.age is:to

Which word does NoT belong:

with the others?

{C) sincerity

(D) integrity

'Sand is to beach as black dirt:
isto

(Ay earth,

(B) plants.
{C)y water:
(D) farm.

Which: word: does N ot beiong'

with the others?

@) day

{B) time

(C) month:

(D) hour




444

10.

11,

12:

PART IV: Six Practice Tests

A salamander is a(@)

{A) amphibian:
(B) harmmock.:
(C) spice.

(D). fish.

Arrogant most nearly rieans-
A) poi'seii;;

(B) superior:
(C) fragrant:

. (D) haughty..

Square is to circle as-rectangle is to

~ (A) round.

13.

11'4».

15.

16.

17.

(B) triangle.
(C) oval.
_(;)) cube.

One 1§ to two'as three is to

(A) two;
(B) five.
(C) thirty,
(D) six.

Which word:does N < belong with: the:
- others?

(A) figure

(B) number

(C) add
(D) letter

Paul is taller than. Peter Peter is'
shorter than John: Paul s taller than
John. If the:first two. statements are

true, the third is

(A) true.
(B) false.
(C) uncertain.

A mellow peach is.

(A) ripe.

(B) rotten.

(C) yellow.

(D) green:

Gossamer most nearly means
(A). beautiful.

(B) filmy.

(C) eerie:

(D) supernatural.

| . petersons.cor

18.

19,

20,

21.

22..

23.

24.

25.

Coddlé most neatly means
(A) handle.

{B) eribrace;
(C) pamper..

(D) love.

Light is‘to-lamp as heatis to
(A) furnace:

(B) light.

(C) sun.

(D) room;

Choir is to director as téam is'to
(A) sport:

‘(B) coach.

';(C) player

(D) athlete.

Diversify most nearly means.

(A) vary.

(B) oppose.

©) change
(D) strengthen.

Harry is more intelligent than
George. Sam is more:intelligent than
Ralph. Harry is more intelligent than:
Ralph. Tf the first two statements. are
true, the third is

A) true:

(B) false:
(C) uncertain,

A superficial wound is

(A) serious,

(B) deep.
(C) facial.
(D) shallow.

Ais north ofB Bis norr.h of . Cis
south of A. If the first. two statements
are true, the third'is

(A) true:
(B) false.
{C) uncertain:

A-precocious child is
{(A) precious;

(B) proper,

(©). tall,

D) _qui'.c_k,;

+
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27

28.

29.

30.

1.

33

Practice Test 5: HSPT

Asadistic temark i

‘Which word dogs N 57 belong with the.
‘others?

(A) college

(B) university

{C€). sctiool.
D) dormitory

‘Trincate most nearly means

{A) pack.
(B): cut,

(€) sound.
(D). transport.

A sallow face'is-

Anindigent person is
;(A)’ de’I’i'cate,_

(A) dungeon
(B) residence’
©) dwelling
(D). domicile

AII tumps are wmged_b"’: &s; No bl

the thxrd is

(A) tride;
(B) false:
(€) uncertain.

34,

35,

36.

37

38.

10,

41,

Which word does N belong withthe ~

others?

(A) prison

(B) jail

(€C) réformatory
D). pumshment

Refuse:meansthe dffos, Tt of
(A) reheat.

®) accept.

{C) reveal.

D) tid_;y.

Ink is to pen.as paint:is to
(A) canvas.

(B) bucket.

(C) ‘wall.

(D) brash.

Acquire means the 0P 1 of
(A) solo.

(B) biy.

(€) rélease,

(D) collect,

‘River-Aiis wider-than River B. River -
‘B.s narrower than River C. River Ads:
‘wider than. River C. If the:first two: -

statements are true, the third is

(A) ‘true.
{(B) -false.

{C) uncertain,
Scant.means the o 17eof

AA). sparse.

(B) scoundrel,
(C) :abundant.
D) stra;ght

‘Pinnacle means the of?»wtof

A(A) bridge.
{B) base:
ACY wall.
(D) rummy.

Team is to-captain as office {s°to:

(A) sécretary,
(B). accountant;

(C) staff:

(D) manager;

WWW.petersons,com .
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42,

43

44,

45..

46.

47,

48.

PART IV: Six Practice Tests

Which word. doesp 57 belong with the

‘others?

(A) window-

(B) drape

(C) shade:
(D) curtain

Corpulent means the offos ¢ of

-(A) bulky.
(B) singular:
(C): company.

(D) slender..

‘Naive means the: o0 P50t of

(A) rural;

(B) dulk

©) sophisticated.

(D) funny.

Whiich-werd doés(N o7 belong with the

-others?

(A) fez

(B) turban

D). derby

Which word does N7 belong with the
others?

(A) gallery

(B) audience.

(C) congregation

(D) podium.

Pledge most niearly theans

(A) promise.
(B). beg.
(C) join.
(D) ‘obey;

Depression is the)H 5.7t of

(A). incline,

(B). valley.

(C) hill,

(D) oppression.

www.petersons:cony

49;

50.

51,

52.

53.

Grapes cost'more than apples butless
than pineapples. Oranges- cost’ more

than apples but less than lemons.

Apples costthe least-of: the frults. If

the first.two statements are true, the
‘third is

A) true.

(B) false.

{C). uncertain..

‘Which word does NoTbelong with the
‘others?

{A) :oak.

(B) elm

{C) maple

‘Diminish is the oo Tof

(A) trim.

(B) augment.
(C) decorate.
(D) decrease.

Jay's batting average is better than

Michael's: Michael's batting average
is higher than Tom'’s. Jay's. batting’
average is. lower than Tom's. If the

first two statements: are true, the

third is.

(A) true.
(B) false.
(C) uncertain.

Abandon’is the. .of.

(A) .abdicate.
(B) keep.

(C) ‘maintain,
(D) .encourage.

Which word does N7 belong. with the:
others?

(A) flexible

(B) feasible

(C) supple
(D) malleable
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Practice Test 5: HSPT 447

A is northéast of B. C I§ southwest of
D but rorthwest of A. Cis north.of B

If the first two statements aré trae,
the third: is"

(A) true.
®B) false.

©). uncertai’ri; :

Which word does ~oT belong with the:
others?

(A) leather
{(B) cotton
(©) wool
D). fur

WhicthOrd does r\)( belong with the

58:

59.

60.

Dwindle mb's’i:ki{ié'arl:y Trearns
(A) shrink.

(B). ooze.

(C) leak.

(D). spoil.

Whiich word does/\}u. belong with the ~
others?

A) oxygen
(B) water
{C) helium
)y gold

Jon ran ‘faster ‘than Carl. Ron: ran
faster than George but not-as fast as
Jon. Carl was the fastest runnet.. If
the first two statements are trise, the
third is

A) true.
®) false.
(C) uncertain..

e
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COOP, HSPT, AND TACHS PRACTICE TESTS

Quantitative Skills (52 Questions) (30 Minutes)

418

Directions: Choose the best answer o each question:

61. What ik the next:numnber ’in tf)é; following
setess 1224, 36; 48, .
A 60
B 56
c
D 64

62. 2 percent of‘a number is equial to 2 times
02 percent. What is:the fitirriber?
A 4
B 2
c 04
D 02

the: correct ansy

d (c) and then choose’

(a) the:arithmetic mean. (sxmple average)
59 and ~10
| thean menc miean: (sxmple average)

o] (a’)}s Agreater than © and Iess than (b) |
D (a)isequal to:{b), and (b)isequal to(c) -

64, What is the nextniimber in the following

5 4. . . 5
65.. 7 of 5 is what fraction of e

4
15
16
4
5

MEGRAW-HILL"S CATHOLIC HIGH SCHOOL ENTRANGE EXAMS

A
B

D

66.

-.los.Vmg ties: 3,7, 2, 3,72, 3, -

itiis the:missing number.in the follow-

®)-
A Th  number: of petals m ﬁgure i b""ls

ﬁgqre (b)

ﬁgure (a)

D “The:number:of petals in figure, (a)
is:equal to the:number of petals in
figure (c):

the next two fiumbers in the fol-

d.is.one-third of What ntimber?

PN T e




_ HSPT Practice Test 2 i

Quantitative Skills: (continued)

- 70. What number is thiiee-fourths added to | 6, Examiné thé Citie and selectthe best answer:-
-Oniehalf? : g
D 025 , : .. 1 ¥

(&) 225%0f%
®) 75% of 12
(e) 5% of20

4B+BC>2XCE {
DG +AC=BC.

QQ@§W¥

7. ‘Whatis the net nurber in:the followmg
series: 3, 9,7,13, 11, A7, 15,

72. What integer s lessithan: eleven—feurﬂls ' s A '19 ;
but greater than'eleven-tenths? 1 B 20 !

c 23 i

D, 2

1
> 78. Examine(); (1), and (c).and then-chodse
2 '" . the best answer.
73. Wh { is.the next-number in the: fo]lowmg ‘ ) 32_,1(10 - 4)
series: 2.4, 2.1, 18,15, 1.2 . i . 2
C _ .
A .o-.gg (b) ( x3)=
B 11 ~
D Lo

.74, What'is the:missing number in thiefollows+ | b
ing series:9,3,1, 18, ,2,36,12,41 | D ®=-®
A 4 __ .| 79. Whatis the nextletter inthe followmg-
B 9 ‘ ' serigsia, b, d, B K, e ?

cC 6
D 8 g g

75. 40 percent of what number is equal o ig_ a-
10 percentof 407 : P
A 16 | 80, Whatnumberis 20%.of the- average of
B 10 | 20%, 609%, and 70%7
¢ 4 ' " 10%
b 20 159%

20%

12.5%

'@QW-?)'

MeGRAW-HILL'E CATHOLIC HIGH SCHOOL ENTRANCE EXAMS A9°




i coop, HSPT, AND TACHS PRACTICE TESTS
Quantitative Skills (continued)
81, Whatis the:next number in the: followmg 85, What numijé_r"s':sqgiare‘iodt is the square of 37
seriest 13; 12, 14,11, 15, 10,16; ; _ A 9 ’
A 1 B 27
B 17 . c 81

c 9 , D 36
D 11 '

86. Four' times what muniber is:two less than
82 What e the hext two numbets ifi the:fol- - three-fourthis of eight?
lowmg series: 2;5,.5, 1, 2, 5,5, L. 7 : f7_

2
1
3
, 2

87..: Examme (a), (b), and(c).and then cHoose:
& Bost ans

A "Thenuriber of triangles is ﬁgure (©) B i56
is greaterthan the number-of circles | C 9
In figor - D 72

The numb of’tnangles isfigure (c) o
equals the:number of “rectanigles in. 4 89 'W}nch ofthe three figures below Has the:
figure(a),;: ) 'Iargest,area?
G Thé number of rectangles is: figure (a) - o
is less than the/nimber of triangles in: [
figure (c):
D Thentimbsr of circles i is-figure: (b)
. equals the number of triangles in
) figure (o).

84, What is the next number iri the following | (5 ®y @)
series: 15,30, 10,40, 8, ... 7 1 ' |
A 48 B
B 60
€ 25
D. 36

-] n:\zw; >

'AH thide: ﬁgures ate equal il ated.

420 McGRAW-HILL'S CATHOLIC HIGH sEHOOL ENTRANCE EXAMS




Quantitative Skills (continued)

~ 90. Examine (a), (bY; and (c) and then choose
the correct answer

() ts 1éss than (a) and“greater than (6)
C (a) is: greaterﬂian (¢):and less-than (b
D @i Tess than () and: greater than: (’o)

91, Bxaiiine figures (2),(b), and (c), which
show: gﬁd" of equal size:and proportion,
) and then chivose the correct statement.

| (a)

A The shaded area of figure (a) is Jess
than thé: sHaded ared of ﬁgure {©).
B, The shaded area of figure (b)s less
fhian. the:shadad are of ﬁgure @
G The shaded areaof figure (a) is:equal.
. tothe, shaded area of figure. (c)
D. The shaded dred of figute:(c) is equal
to the shaded area of figure (b).

92, What_;;xumber must-youaddto/both;the

> 1
numerator and denominator of }; to
8. -
biain =7

o0 W

3
]
9

MeGRAW-HILL'S CATHOLIC HIGH SCHOOL ENTRANCE EXAMS 421

A (b) is greater than (¢) and less'than (a) 1

HSPT Practice Test 2

93. What'is the next number in the following
16 30 24 ..1 48 15

series: ’-E Py ?«7‘ A

[ o SRR v S« - B -

i
4
8
30
4

94, Examine (a), (b); and (©)
(a) the .l‘eéi‘p;qc:ﬂ:jdf%;

o3
(b) the reciprocal of 5

«©) the. recxprocal of %

Al of the: followmgaretrue EXCEPT
A @x(e)=0)

B (h+@)=@
€ ®-~ (0) ={(a)+ 3
D @=*2=0b)x©

95. ‘What is the next number in the following

34

96 0ne~fourth of four-less fhan a number is
equal to six more:than eleven, What is the
number?

+ ol

A 93

B 72

c 6

D 16




'- COOP, HSPT, AND TACHS PRACTICE TESTS

Quantitative Skills (continued)

97. What nutibéris 150 percent of 350° percent‘7 _ 101 What posmve mteger mnluphed by itself .
» _2-

A 3
I

B

c 4
b st | 102, Whatis the next termin the fllowing

4 ] series: 14EH, 12GG, 10IF, 8KE, 6MD, ... . ?
- N " A 50C
98. The figure'below shows-a square and 4 -circlé. g 4NB
D 400

103, 13 more -’than two-ﬂnrds ‘of & niimber is.
eq"' alto 35, Whatis:the number?

‘Which of ‘the following statemients is tris?
A The square’s perimeter is twice the
cxrcle- ' dlameter

B
D

The area of the: square is: eqﬁal to the
area.of the cb:cle

'99. Three:fourthsis: four-fifths of what nurdber?

A

B
N o
D

100, ‘What is the missing, numbermth follow
ing series: 37,:35; 36,34, __ +:33, 34,322
A 34 .
B 33
c 35
D 3

422 MeGRAW-HILLS CATHOLIC HIGH SCHOOL E‘é‘:N‘T’R--A-{N'-C;Ei EXAMS




Ouantitative Skills (continued)

Fagesi

105.. Bxamine- figures (a); (b), and’ (c), and then.

choose the-corect stafement.

o [}
Q

o] ol 5]
>

@ e o

A The iumbeér of circles is:figure {a)
equals the number of triangles in
figure (c). .

B - ‘The numberiof tnangles is ﬁgure (a)
eqials the number-of tiangles in
figure (b)..

€ Thenumber of circles is figute.(c)

- equals the nimberof triangles in
figure (a),

+ D The numbgiof tiangles.is ﬁgure {b)

is greafer-than the number-of citcles
. ﬁgure (b)

106. Examme (a), (b}, and (c) and then choose

the:correct: answer

+ (8) \[_

(b) 2

© 32

A @<d)
B (©)>(@)
€ =0
D (@=(c)

107,

‘What number subiracted from ~1 is one:

greater than the sum of -1 and —17
A1

B 0o
c 2
D =1

HSPT Practice Test 2

108. Assume:that x> 1, > 1, and z> I'and

that x,7y; and z.are integers. Examing (),
{b); and (c) aiid ;th‘eh“:‘c{hodseit’heﬁb.es_’ti'

.answer.

(@ 2p+2)

By aztay
&) 2+y+7
A {a)is equal to'(b):and les§ thin w©
k¢ equal to'(b) and to (c)
C “(ayis equal to'(c)'and greatér thati (b)
D (b) s less than () and greater thar (a)

I 109. What is the next number in‘the following

A 3.125
B 3.025
C 250

D L75

110. Examifie: ﬁgurcs (a); (b),-and (c), and then

-choose: the correct statement.

U 6w »

e

(@)

190°

®
'_Fzgu:e (@ contams more: nght angles

Figure (b): contams thie sanie number
of 20%:angles as figure (¢).

Fignre (c)-contairis the. same number
of 70° anglesas: ﬁgure {by.

F1gure (b) contaitis-iiore acufe angles
than‘figure (c),

MEGRAW-HILL'S CATHOLIC HIGH SCHOOL ENTRANCE EXAMS 423
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B coop, ser, ANDTACHS PRACTICE TESTS

Quantitative Skills: (continued)

 lovingseriesr 2,43, 4044, 5. 7 | o e
LA 4,3 :
B

urnber s 64 divided by the cube.

!

e

3,4
4,5
6,4

STOP!:

18 you finish before time runs outy, check:your work oh this section only.

T e e e T Ty

s

T oSy s =
s Ty S Al

ey
A AT Tdort e
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PART IV: Six Practice Tests

CREADING.

- Comprehension

Our planet. Earth is- divided into: seven

_ separate layers. The outer layer is called the
- crust -and’ appears: to: be approximately

twenty miles thick. Next in: line are the four
layers: of the mantle. These. layers vary in-

, thlckness from. 250° to 1,000 miles. s. The
remaining two. layers: are divided -into the:

" outer-core and inner core. The thickness: of.

. the outer core has: been defermined to be

. slightly more-than 1,200 miles, while thatof

- thednner coreis. slightlx less than 800 miles.

~ Scientists calculate:the:locationand depth of

these layers by measuring and studying:the

. speed and direction of earthquake: waves.
© They have also: determined that both tem-
- perature and pressure-are. much greater at:
- the core:than at the crust.

113. The thickest portion of the earth.is'the.

 (A) crust.
(B). outer core:.
(C) mantle.
(D) inner core;

114; How many separate layers does ‘the.
earth have?:

(A) Two.
(C): Seven.
(D): Four-

- WWW.petersons.com.

115. Which of the following is.correct?

(A). No:two sets. of earthquake
waves-ever travel in: the same:
direction..

{B) Earthquakes usually travel in.
the same-direction,

(C) Earthquake waves travel at
different:speeds..

o) Earthquake waves travel at the
same speed but in different:
dxrectmns.

116. You would expect to find the Kind of
jmformatlon in this'passage:in

{A): an. encyclopedla
(B) a science book.
(€). neither-of these:
(D) both of these.

117. In going from the surface to the:cen-
‘ter of the-earth, in ‘which order-would
‘you pass: through the layers?

{(A) crust, outer core, mantle, inner

~ core ’

(B) outer core, inner core, crust,
mantle

':(C) outer core,:crust; inner core,
mantle

{(D). crust, mantle, outer. core; inner

- core

118. The wordyary, as:underlined and used
in this:passage, most nearly means

(A) stabilize:
{(B) increase.
(€). range.

}(D) arbitrate.




119,

120.

121.

122;

~ Practice Test 5: HSPT

‘Which: of the-following is correct?
(A) Scientists know. the exact

thickness of the crust.
(B) Scientists beheve k
thickness of the crust..
(€) The: thickness of the rust
cannot be:detert
(D) Scientists cannot agree:
thickniess of the crust..

In comparing the core wi
you would:find that at

 thecrust;

hie core;

(A) temperature and pressiire are
less:

(B): pressure-is greater temperature‘
is less.

{€) temperature is. greater pressure.
is.less.

(D) temperature and: pressure are
greater.

The word s hghtlx as underlined and
used in: this passage, 05t nearly

| means

(A) scarcely.
(B) considerably.
(©) alittle.

(D) at least.

The ‘word rem g as. underhned’

and used in thi .ii
means

(A) previous

(©) 'last
(D) prior.

knowledge,
teachirig novices.

Spelunkers believe that Edrth's ihner Spaces. :
are:as exciting as the universe’s outer spaces;

123, The ﬁrst two pa

(B) 'epth
(C) ‘atmosphere.
(D) stréams.

124. ‘The word

’(C) medxcal doctor,
(D) magazine writer.

126, The cavé the man was .exploring was

probably

(A) large and dry:

(B} déep-underground..
(C). niear the surface:
(D) danigerous.

WHW.petersons.com

developmg new: vechmques. and -

raphs.of this’ pas-

wavering, 4s: ‘underlined. :
vthis passage, mostnearly

455-

ém
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456

127,

PART IV: Six Practice Tests

According: to: ‘this passage, ‘what
started the ‘bats to suddenly fly

abouf?

(A) The spelunker

(B) The damp: :and cold air
(C) The flashlight

(D). The sudden noise

The man ducked when the bats flew-
‘because h‘e‘ was

(A) angry..

(B afraid.

129,

131,

182,

: (C) surpmsed

(D) hurt.

The word uttér' as underlined ‘and

“used in: this_p: passage, most: nearly
means

(A) bovine.

(B) unspeakable,
(C) oppressive.
(D) great.

According to this-passage, spelunkers.

ignore;

(A) safety rules,

(B) light,

(C) discomfort.

(D) other spelunkers.

A good title for this:passage:would be-

(A) "Batty about-Bats:"

(B) “Spelunkers—-Underground
Explorers:”

(€) "Inner Space.”

(D). “The Life of a Spelunker:"

According; to -this passage; which

word* would. most nearly describe.

spelunkers?’

(A) Experimental
(B) Cautious:
{C) Antisocial.
{D) Adventurous.

W petersons:con

Litterbugs have a bad reputation, but the
biggest litterbugs ‘in history have, in fact;
been very hélpful to mankind

For glaciers, in-ancient times and today,
are the. greatest creators:and: distributors. of
litter: .Of ‘course; they dort't drop tin scans;
‘paper cups, and. pop bottles; ‘they dump
rocks, boulders; sand, gravel, and mud- all
over the landscape, and it’s this glacial
debris that has helped create some- of the:
world's most fertile farmland, such as:thatiin.
America’s Midwest.

Geologists describe glacial ice as true:
rock, different ‘only in that: it melts more:
easﬂy than other rock. Because glacial ce is.
moving rock, it scrapes, bangs, and tears at-
the terrain over which it moves; breaking off
chunks of all sizes. When the ‘ice melts, the
debris. drops, and, if it is: rich in minerals;
creates fertile:soil when it érodes..

" It's -too 'bad human litterbugs ‘aren't as
usefull

133, The richness of the soil in America's.
Midwest can be attributed, inpart, to.

(A) heavy-annual rainfalls,
(B) scientific analysis..
(C) human litterbugs.
(D): ancient: glacial debris,

134, iAithou_'gh ‘the author. of this passage.
describes- glaciers as: litterbugs, his
attitude-toward glaciers.is one.of

(A) love:

(B) gratitude.
(€) admiration.
(D) fear.

135. Which of the following is:correct?

(A) Glacial iceis full of pop bottles.

{B) Glaciers are harmful, '

{C) Glaciers erode the terrain,

(D) Glacial ice may be fullof
Tfertile soil.

136. According to: this passage, history's
bigpest litterbugs are’
(A) glaciers.
(B) people.
(C) rocks: _
(D) bulldozers:



Practice Test 5; HSPT

-mean

}(A) most icy.
(B) flattest.

{C) miost rocky:
f(D)‘ best ‘g‘mwmg.

138. ¢

T(B) mmerals
(C) vitamins,
(D) melted ice.

139. p

.1405%

(D) ummporfant

141. Th A{wor .'terram, as underlmed and

142; It ceuld be:said, on the basis: of this
yassage, that glaciers change the

] meral coritént of :rocks.
(D»'_. earth's geography. -

45

The superstition ‘of witcheraft, which. most . e

people langh at today, -is. still a ‘matter of
mystery and speculation. :

Hundreds: of thousands -of people in
Europe ‘who ‘were accused -of being: witches

were executed during the Middle Ages and.

even as’late as the early. exghteenth century.

Their deaths probably resulted from hysteri-
cal fears:. Yet ‘the: judges: undoubtedly were -
sincerein their-desire-toréliminate:what'they

thought was -a real danger. ‘Some modern

psychologxsts have theorlzed that se-cailed

witches:actually  © dangerous: In essence;

they. say thata person whe believes in the
powers’ of witchicraft-can be:affected emotion:. -
ally ot physmaﬁywmay even: dxe——because of

a "witch's.spell.”

When Europeans: mmugrated to America;.
they: brought ‘their beliefs with them. There:
were. a number of ‘Witchcraft trials: in

Massachusetts during the. 1600s; however,

after the execution of twenty Salem “witchies™
in 1692, prosecution for-witcheraft: didn't

survive long in the New World. -

Most:people‘inthe civilized world no longer :

believe in witcheraft. Nonetheless, the :sub-

Jectds-fascinating for many people: As anex- -
ample, the TV show “Bewitched"-was a-very: |

popular program for-more than five years:

143. This passage was ‘probably prmtedi ;

in a(n)

{A) ‘history book.

-=(B) magazine Co
- {C) “psychology-book:.
(D) encyclopedia.

144. According to this passage; the: mys-. .

tery of witcheraftis

(A) amajor; problem for
-psychologists.

(B) :of very little:interest today:

(C) -still'unsolved:

(D) amajor problem for sincerejudges; .

145. One of today's reminders ‘of ancient

-witcheraft: ‘beliefs’ i3

{A) Halloween.
(B) April Fools Day.
b <.

alty for certain.
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146.

148..

PART IV:Six Practice Tests:

.eat,:,vaks from little acorns

grow.”
According:- to'some psychologlsts pei-
sons who. believe in w1tchcraft

(A): can-be harmed by it.

(B) tend to laugh at it today
(C) arg crazy. -

(D): tend to be: dangerous

 Vocabulary

150.

151

:and used in this passage. most near]y‘

means’

‘E(A) probably.
B) basically:
©) bneﬂy
(D) finally.

Thie: word fascinating, a8 indeclined

and used in this passage, most nearly
means’ '
:(A} frightening
(B): enjo ble.

{C). frustr,tmg

(D). interésting.

This passage. suggests that ‘what you
helieve

'(B} “Th End of Witcheraft?

(©) “Wi Heraft in the New Woild,”

'(D) “The:Powefs of Witchcraft "

153,

154

a new pers eétﬁi\fei:

(A) receptacle
(B) sight

(©) picture
(D) v1ew

impair his vision
(A) test

(B) weaken

(C) improve:
(D) destroy’

- www.petersons.cony

156.

ihesﬁié]léétfhovél

{A) hut
B) shovel
(€) house

(D) palace
to Joathe
'(A) hate




157, o feproach

(A) approach,
(B) praise
(C) blame:
(D) steal.

158, to bé-eliitéd

(A) happy
{B) akin

© moved
(D) upset

159; hiS’bx_fusgu frianner

180, d

161, guench your thirst

(A) end
(B) increase

162. 4 famois exploit
(A) crime’
(B) deed

164,

() time
(D) 1tem

165,

166.

167..

168.

169

170..

171,

172..

‘that amiable soul
{A) casual
{B) honest
(C) fine ==
(D) likable ; | 3
her astute mind. ' §  %‘ Y

(A) shrewd > \ a y
(B) careful 1 e

(B) destitute
(A) end

to hinder someone

Practice Test 5; HSPT ' 459

(C) Stupid ‘
(D) astounding -

to sever contact

’(D) 'estabhsh

theé éminent man
(A) wicked

(€} ncient
(D) outstandirig -

to.terminate:a contract.

(B). enter
(€) make
(D). determine

{A) assist
(B)- follow
(€C) impede
(D) slight

a spirit.of contention

(A): debate
(B) content.

(C) mqmry
(D) calm:

to-concede defeat

(A) suspect

;(B) admlt
( . .
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178, to forego his rights:
(A) usurp
(B) insure
(€) insist on
(D) giveup

PART 1V: Six Practice Tests

174, your canny giiess
(A) unicertain
(B) mistaken
(©) clever
(D) insincere

. Wwi.petersons.com
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Mathematlcs (64 luestaons) (45 Mmutes)

Dlrechons' Chaose the best answér to-each question.

Concepts

175, What valie does the digit 4 represent in .
the decimal number, 35.98429

G A
'A “1000

. 176, How many integers-arg greater thas 10 but

less than 1002

A 90
B 88
€ 91
D 89

f

177.: Which of the following i isa quadrilateral?
A ‘hexagon
B triangle -
G pentagon
D trapezoid

178 Wa+2b= bthenb—

A 2ab+h
“B 4ab

c 3a+4b.
"D b+2a

179. What‘“ 1hi idlfference betweeg the sum-of

sum of all:odd mtegeisbe:weén 0 shd 1007

A 50
B0
C 100
D 1

. HSPT Practice Test2

| 180, In the figure below, ZBEC is a sight arigle,

G« )

Py

Which. of thé following statements-must-
be true? .
€ m/l+mz2 4+ ms3=360°
D msl4+ms2=180°

181, The number 500,000 4§ equlvalent o

A 5% 10°
B 10:x5¢
D 0x$

182. 1+ 20+ 3x =

B 6x
€ §5+3»
D 6

183. Whlch of _the followmg represents

D i{'}.‘z;z;t.;fs}} |

F
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COOP, HSPT, AND TACHS PRACTICE TESTS

Mathematics: (continued)

184. Point'A appears:on the'real fitirnbei line ds
shown below:

I RPN ) LT g [
- 1 - L] T

-1 o 1

Y

If x and y are real numbers, poititA below
CANNOT represent
A =y

185, ‘Whiich of the following is 4 complete and
dccurate list-of the prime; factors.of 487
A 2,3

P
187, It T Q = R fherr which of the following

equals:2R?
o

A 4+320
B L

=
’ "w;lzo

o
of®

Ea~

“+
S

| 188 The population of a certain city is

189.

190,

191,

436 MoGRAW-HILL'S CATHOLIG HIGH SCHOOL ENTRANCE EXAMS

2,355,002. Rounded to;the nearest ten.
fhiousand, what is the city’s populatton‘?

A 2,400,000
B 2,450,000
C 2,356,000
D 2:360,000

If onie of th angles ‘of an isosceles triangle
meastires ornie-of the othcr angles
Toust méasiire! T
A 800
B 100°
D 60°

iy:

I x-&—Land:y > 1, then it must betre

that

A x+y<0

B wx ~i

C x+y>0
Y

Tn'the figure below, 1, || .

3 »m,47 Hm/.’6A+m42
mZl+ 180 =mZ5 +m4L8
D mZ4=180~msLT




Mathematics (continued).

192. "Which of" the followmg 184 prime number?

A 6
B 73
Cc &7
D 55

193; 25 cents.is what fracion of 100-doflars?

194 Ifa, b, and ¢:are consécutive integers such
‘that 0 <'a < b« ¢; which of‘the; followmg
could be an- :mteger?

B

C

D

195. ‘When you increase acube’s higight by.
100%; youi increase'its volume by
A 600%"
B 400%
.G 700%
‘D, 200%:

196. Which of:the: followmg is the set of cor-
mon factors of 60 and 367

D (2346,12)

HSPT Pratice Test 2.

197. The figure below shows a parallelogram.

“Which-of:the following statements ds-true’
A Interior angle:BCD miedsiites 5°.

B AB is perpendicular:to-AD.

€ x»90 . )
D Interiorangle ABC'is an acute anigle;

198. If Kira randomly selects an infeger froi

1.0 50, the probabﬂxty that-she will select
4 multiple of 3is

A

(v
D

2 oo S @I
+

Problem Solving

199, —1 - (-2)~(=3)=
A 6
B 4
D 3

| 200. A salad costs §3.75; a beverage costs

$1.50; and a bagel costs $2.25. Kevin, who
has $5:50-to spend, can buy-any of the fol-
: lowmg EXCEPT:

A three beverages

B twolbeverages and a bagel
1 salad and beverage:
D-a bagel and salad.
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COOP, HSPT, AND TACHS PRACTICE TESTS:

Mathematics (continued)

201. Find thevalue of y in the figure below.

120
90

130.
100°

Sowx

202. 298.67 + 1.33=
A 301
B 29990
€ 30001
D 300

203. §-+02+5%=

AT
L
1

o 10.

204, Ona:cold winter day, the'low témperature.

was —6% and the high temperature was-[19,
; whatwas the:

Based on these:two.sta
average temperature forthe: day?
258
05°
1.5°

Cowm

206. E

- 207.

208,

A

5

A 9
D 15

‘Which of the following is most rigarly
qual to 39 |
equal 1o 3

A 35

B 170%

C L6

D 230%

43 MoGRAW-HILL™S CATHOLIC HIGH SCHOOL ENTRANCE EXAMS




‘Mathematics (contintied)

B
209, — =

el

S e

o

210.. 130 ounces of coffee beans are removed
from a-5-pound bag;of coffee beans; the
new weight of the bag of coffee beans is
A 50-ounces:

B 20 ounces
€ A40.ounces
D 60 ounces

211. A cxrole S d1v1ded'mto four sccters around

212, A team played 25'games:in the season,
losing.8 more games than jt-won; 3 of the
games ésultedin ties: How mary games
did the:team win?

A _ 15

B 12
Y -

D 10

213. 'Whith of the following operatmns yields:
. the-greatest. sum?

)

A 21+~

 08F~—

o [

B
D

014~

: :' . 217,

- HSPT Practice Test 2

214, The table below shows: distanices {in mﬂes)
betwegn fivecities.

A B CDE
T2 6] 15|22
24| |12]40] 6
63)92) 20|27
[Bs]40j20] |52
[:2[6|z|n]| |

Which-of the following trips, €ach jfivolv-
ing two legs 18 lonigestin distance?

A From D:to E,and then to' G
B From Cito A, and then to D
C From A-to.E; and thento'B
D FromD:to B, and'then to C

215, Fillin the blank to compléte: the following:

equatlon :
1~ 105 (_x3y+3=4

g ow »

216, If Stacy drinks 25% of a 16-ounce cation
of milk, and then Tater drinks 25% of the:
remaining milk, how many-ounces: of milk
sire Teft?

A 11
D 10

Actectangular plot of land with a'length-of
150 feet Has an atea of 12,000 square: feet,
The width of the:plotis 7

80 feet

100 feet: .

65 feet.

135 feet

COom>
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Kl

Mathematics (continuéd)

ek hour g
average speed'for the: entn‘e tound frip was.

Psiag y

age was twwe Terry s age‘ What is
‘Pani’s current age? 1 o
A 28 - 228 |-6]~]-6]=
D 36

220. Four pomts vappear ‘on:the (x,3)-coordinate:

) .

:22$»'

a8 MoGRAW:HILL'S CATHOLIC HIGH SCHOOL ENTRANCE E XAMS




‘Mathematics {cantinued)‘l

.
oy
wf

%Sitqrs‘gperimomh:
(thousands)
8

227.. How. many. centimetersi 8 equxvalent to
‘one, fourth of one meter?
A 250
‘B 40
¢ 25
D 4

228. Of 2 ;animals at the-zoo; 15 are: monkeys
‘Whi e following fractions eXpresses
fhe ratio: of monkeys to-all other anirmals-at -

th,e 2007

A 54

C 45

D 43

229, 245 4 2125 =

A #l10.
1of
;: 12

1245

Questions: 230 and 231 aré based.on the followirig
:mformatzan’ :

“The graph-below stigws ihe. number of visitors'to _

Seaside State Park. dunng each of six months,

00

Z;g 3 & &

230. The greatest increqse in ‘the number of
park visitors:from.one mchth to’ the next’
occurred

frofm. January-thiotg "”Febmary
from Febmary through:Mireh:

" fron March: throigh April
fromi May through June:

Uﬂw)

| 231.

| 232,

233.

234,
_ ‘measure
1or as 4:portion of the ¢ircle?"

235.

HSPT Practice Test 2

Approxxmately how many: visitors did’
the park receive altogether during the:
six months shown?

A 190,000

D 225,000

Find the valué of thie expression -3—Z~ =4y

jwhenx—4y 3, and 22,

A =30

B -6

¢ 2
D 12

3P E2r =
A =23
B 31
F—
b -5

“The:Gentral. angleof orie sector of a circle:
80°, What'is the ares of the sec-

A0 00 tid ] x: mh—-

Ashley. carns $15: per hotr-and receivesa
5%:commission on all- of her sales, How
mitich did. Ashley-earn during an ‘8-hour day
during which Ashley’s sales-totaled $4007

A si6
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Practice Test 5: HSPT 467

e Solvefor (o +3) - G % D=

3 3‘) T2
we
®) 6_70'

(A) $90.50
(B) $80.50
(C) $805
(D) $905

your work in

W petersons.cor
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289,

240..

241.

243,

(A) Jeff asked

(B) Steve

PART IV: Six Practice Tests:

- “What-color is the

Easter bunny?" _
on the annual polka
coritest:

(C) The letter was maﬂed on

‘Memorial day.

(D) No mistakes

(A). Are yor comting to my bitthday

party?

(B) The first snow fell on Sunday

Qctober 27.

(C€) Jack’s father-drove-us to the

movies.

(D) No mistakes:

(A) ‘We:will besvacationing in sunny
Ttaly..

®B) Dave wxll areve: at'Kennedy
inte pol

©y We de ded to have Charhe read

D) No mistakes

(A) Ja’ne‘fs'- .givin‘g. ‘areport on

®) She fell Adown-and brokeé her

(D) 'No mxstakes

(A) Please:wait-for me after school.

(B) Mother, can I'go to-the movies?

(C) Bob:and'his brother will meet

the-train.

(D) No mistakes

_www.petersonsicont

244,

245,

246.

247,

248.

249.

{(A) The:coach gave instruct
each of the girls.on theé-team.

(B) Just forward:the:mail to. Daii.

and e,
(C) Will all of us travél :on one bus?

(D) No mistakes

(A) ‘Wheré in the world.did you
Jeave your gloves?

{B) The.dog licked its chbp_‘s: after

the:meal:

{C) “Oh; that's terriblel Sally cried.
(D) No mistakes

(A) Detroit:s the:center of the
automobile:industry.

¥ Jones was an officer

{©) Thelr makmg a teirible
anistake.

(D) No fnistakes

{A) How is your cold?

(B) Theé:rabbit got sick and died.

(C) Who's' book is this?
(D) 'No mistakes

(&) That is a pretty dress, isn't it,
‘Sheila?

(B) How:ald is your pet, Alfte?”

©) Why are you:so. tired?

(D) Na mistakes

(A) How.long has the train’ been
gone?

(B) “Well" Jay said, let's get golng,"

(C) Jack's uncle s a firémaf:

(D) No mlstakes




250,

251.

258

256,

D) No mistakes 4

Practice Test 5: HSPT

(A) Do told s where he'd bought
his: coat.

(B) What's your name; httle girl?

(C) Yellowstone is:run by the:
National Park: Servxce

(D). No-mistakes

(A) How are you; Jim”
(B) I'im fin ;}'tha ' i

(B) Sprin' wﬂl be" ni-at nioon today:
©) Let' ’share thie candy thh the
(D) Nu mlstakes

(A) “Will, you'ré parénts are very
mce

(B). Ted's:family-is: buymg a bnat

(C) My father is:a- textbcsok
publisher.

B '(D) No mistakes~
254.

{B) The ﬁrstshaw isqati2:30, isn'tit?
:(C) How:much. is;your piane Hcket?
D) No mistakes:

(A) The-award.was. given'j‘o’inﬂy to

Dlerdre.and L

-':(B) John :asked if he might go home

© -C' ts and ‘dogs’ sometimes piay

well togethe,_ _

258;

:259;

280;

261,

262.

(D) No mxstakes

469

- {&). Have you séefi Marie'siew
coat?

®) No mxstakes ‘

Ay Aiihefs‘aiid;:""Wéifr‘jte;iliy":shoiilaIg‘.o: ‘
now."
(B) - You can, -always say Sam.eats:
well=—and:oftent’
(C) 1'told them.my study hall was
~ second period.

{A) The boy* threw his $hoe ‘in:
anger.

(B): L'laid in‘bed all mght w:thout
sleeping.

{C) Keep this as:asecret bemge._lﬁl-
yousand me:

(D). No.mistakes:

(A) The Boy chi;;i;s:'a;vefmgféﬁiizgfaf
Jim's tomorrow,

(B) Do you kno -whxch of the:
R spellings of 100 means-also?

(C) “There is a:narrow path beside.
* the tailroad:track:.
(D) No:mistakes.

(A) We would have:called'you if
 weld known

wwwpetersonsicom.
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gﬁdé

2865.

. 266.

267.

268..

(A). Actuiall

(C€) Tt is'so cloudy-th

PART WV Six Practice Tesls

; ic8 hockey is exciting
to: ‘watch.,

(B) Janet plays guitar almost as

well:as Tom.

(€)' Does Dave like to- talk to Debby:

~ Ann?

(D) ‘No:mistakes:

(A): Kenwill graduate from

Stanford this: June,

(B) Jackis 1earmng Kay- to-draw.
(C)- Before we knew. it; the class was

overn

) No mistakes:

(A) When. will yau “know what the
-agsignment is?

(B) You should-of seen the crowd at
Paul's: yesterday

©€) J’oe will be s ationed at-Fort -

D) No: mlstakes

(A) Dad'’s going fishing in Canada
next week

§3) No mistakes

(A) We have already sold too many
tickets;

{B) If'T knew-the answer, 1 would be
rich. now.

(C). The artist-wor ks less. hours
than: the:carpenter.

(D) No mistakes.

(A) The tiny kitten sat licking it's
. wounds. , '
(B)-If you wish, we. will have
chicken fc dinner;
at we-tannot
- seeth ky 'Way. tonight
(D) No-mistakes:

- www.petersons.com

.AGQ.

270.

271,

272,

273

274..

(C) Most birds

{A) EVeryone must-sign thelr name
an the register.

(B). I am all ready, but the taxi is.

not here yet.

{C) 1 do:not believe that I have only

two choices.
(D) No mistakes

{A). If you don’t know the answer,

don't Faise-your hand
(B} The baby is playing:in her crib.

(C) Jeff'is the taller of my three

SDnS

(D) No mistakes

{A). Netther Lisa nor'Liz has made
the Honor Roll.

B 1 have much: more free time
than you,

(©) Everyone wants to have h1s

owri ' way.

'(D) No mistakes

(A). When' he said that; everyone
applauded

(B) He was much more interesting

than-1 thought he'd be.

(C) Heélen dsked Molly-and I'to

come to:Her party.

(D) No mistakes
{A) ‘The: sun set. at 5:15 this

aftérnoon,

(B) Mary:set the table for dinner-
yesterday:

(€) Please:set those books over:

‘there, Jim,
(D) No mistakes

{A) The horse ran swiftly-and won

the race.

(B) 1 feel badly that T cannot attend

your: wedding,
and . gome: people fly
ith for the winter:

(D) No mistakes




- Practice Test 5: HSPT 0 471

275. (A) This Xird of movie may frighten.
small:children, '
(B) I'mglad to hear that.you're
planning to goto.college.
{6) Myself has bought a: new dress
for-the party:
(D) No.mistakes

276. (A) How'many eggs did you use in:

this cake'?

-can't hardly wait for the school

271, @ 1

278 (&) Tl let you Know: if my parents:
can pickous up: '
(B) Our whole class:sent get-well.
~ cards.to Hilda..
(©) Harry saidhe-hadn't done:
nothing wrong;
(D) No: mistakes

279, (A) Clarence

D) No mlstakes

280. (A) Aré you sure-you can'complete
the:assignment on time?

{B) The-entire crew worked very
efficently.

{C) Mary wentto the library
yesterday

(D) No mistakes

281, (A) Ttwoccured to me: that1should

282,

283.

1

286.

(B) “What 4 dreadful. ‘coniparison,”

(C) Bob's temperature was backto. ©  }

:(C) The chemls "nalized the

(D) No mistakes
(A) My brother's going out:for.

{€) Mary dropped her handkerchief;

writs homie,

Ida: remarked

_ Solationin his'laboratory.

athletics riext year.

{B) “This/is a small: token of my
esteem,” he told his:teacher.

in:the corridor:
(D) No:mistakes

Ll

{A): The general spoke: ofa possible
winter-offensive.

{B): Ted, ﬁnally succedediin: solving
the puzzle.

i 1to. the: next perwd & TR
D) Nomistakes:

(A) Péte perfers-to sit by:the-door.
(B) Joy-has & very agreeable:

personality:
) We struggle w1th" ( urselves to

Wiww. petersonsicom
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287:

889,

290. C

291,

After a'tiard day-at work,

PART IV: Six Practice Tests

(Ay Did you heat the announcément’
about the picnic? |

(B) While-the initial cost-is high,
maintenance-is low. :

(C) Jan's coat is:similar to. mine.
(D) No mistakes:

288. (A)

Al said-it-was not heccessary-to
read all.of the plays.

(B) It's:disappointing:to-have
missed the plcture:
(€Y The original order was difficult

(D) No rmstakes

Choose the: best'-word or words to jmn
‘the thoughts together, :

1 left-my: books: at schooly’ 1

won't be able to do:my-homework.

(A) therefore;.
(B) nevertheless, :

Choose the grop of ‘words, that best
'completes this:sentence,

was something Mary did

(D) sleeping was what Mafy dl;i

L WwWwpelersons:com

282.

203,

294,

“Which -of ‘these -expresses -the' ide
most clearly?

akft éhe pa_ er he hked to:
read
] g it

' m llked to read the paper:
-every morhing at breakfast,

‘Which. of these expresses: the, idea
most. clearly7

{A) 'In order-to héar her:favorite
musician perform, 50 miles it
was that she: drove,

ove 50 miles in ordes to
er favorite mUSiclan

‘miles in order to hea;
perform. \

thchi f these best ﬁts under the
toplc "Hlstory of the Automobile™

(A) Cars requlre a great de‘ '1‘:of

ng ‘age varies
te to nuthen

cannbt be credlted to any one
PErson.

(D) None of these




Practice Test 5: HSPT

Which of these expresses the ided
Rist-clidrl

(A) Klm‘liked the skateboard with:
the nylon wheels that his father

with nylon whels,

298. ‘Which :sentence -doés:

:th;,.‘paragraph?

belonig ini

297.

298,

Nous GTW{(*

Which ‘topic is best for a ‘one-
paragraph therie? '

‘(A) How ‘to Open Your Own

Business
(B) Child Psychology:

{€) The Geography of Asta and

Africa

i(D__) None of these:

Where. should. the sentence, “The
government has set up laws restrict-
ing or forblddmg the huntmg of
tertain animals,” be: placed in the
paragraph below?

{1) Many animal species:-are-now be- -
comingor have recently become ex-
tinct: (2) Both government :and’ pr1~
vite-efforts are being made to protect:
those:species-currently in danger. (3)
It has also attempted to.educate the
public-about:the: problem

(A) Between sentences:1 and 2
(B) Between sentences:2 and 3’

(C) After sentence’3’

(D) The sentence:does.not fit in this
‘paragraph.
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